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Question Number : 1 Question Id : 2549896603 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The top most bar in any application window is the . It displays the name of the
document or application.

Options:

1. % Menu bar
2. % Toolbar
3. % Status bar
4, + Title bar

Question Number : 1 Question Id : 2549896603 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fohelt off Treiichar faet # e SR areft gt (bar) it 81 I8 SIagHE T Theiteh el ATH Ua i
Hdl Bl

Options:

1. ® AqER

2. % TAER

3. ¥ g IR

4, ¥ T3 IR

Question Number : 2 Question Id : 2549897791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Select the ODD one from the following.
Options:

1. % CD/DVD



2. * Floppy Disk
3. ¥ BIOS
4. % SD DISK

Question Number : 2 Question Id : 2549897791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAafaf@a § @ /g o1 ga= ISl
Options:

1. % ¥t/ (CD/DVD)

2. % gArdt f$%s (Floppy Disk)

3. ¥ BIOS

4. % SD DISK

Question Number : 3 Question Id : 2549898800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following software is an essential part of computer operations?
Options :

1. # Desktop

2. * Application

3. ¥ System

4. % Database

Question Number : 3 Question Id : 2549898800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fA=fofEa # & ol a1 Aitedr hger Jared o sifvard fgwar 82
Options:

1. % S&neiy

2. % Uwfiche

3. ¢ R{Eew

4, % e

Question Number : 4 Question Id : 2549898884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The decimal value of the binary sequence (10111)2 is



Options :
1.9 23
2. % 24
3.% 20
4. % 15

Question Number : 4 Question Id : 2549898884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR gk (10111)2 T GHST A gl
Options :

1.9 23

2. % 24

3. % 20

4, % 15

Question Number : 5 Question Id : 2549899337 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With which of the input device pointer on the computer screen is controlled?
Options:

1. * Microphone

2. % Barcode reader

3. ® Scanner

4. ¥ Mouse

Question Number : 5 Question Id : 2549899337 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FYR GhIH R Uiged ot fohg 3qe fEarga @ Faifa forar sirar 82
Options:

1. ¥ HIZhIGIA

2. ¥ gReprE Fe

3. ¥ &R

4, ¥ A9

Question Number : 6 Question Id : 25498911561 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Hard copy of a document is:
Options :

1. % printed by a printer

2. % stored in a floppy

3. # storedina CD

4. * stored in a hard disk

Question Number : 6 Question Id : 25498911561 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fenefl TS AT gIE gt Bt g1
Options :

1. ¢ R grI gfea

2. % gordt § 9ugia

3. % OIS (CD) & Sugla

4. % g1s R & Tdia

Question Number : 7 Question Id : 25498919044 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The installation file will be saved to your computerin_____ format.
Options:

1. ¥ .exe

2. % jpg

3. % .cmd

4. # obj

Question Number : 7 Question Id : 25498919044 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SETCIRM WIS 30k YR W UIEU H Hgoll S|
Options:

1. ¥ .exe

2. % jpg

3. % .cmd

4. # obj



Question Number : 8 Question Id : 25498922566 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An MS-Word 2019 table can have unlimited rows and a maximum of columns.
Options:

1. % 61

2. % 62

3.4 63

4, % 64

Question Number : 8 Question Id : 25498922566 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THEH-a€ 2019 (MS-Word 2019) difererr # srefifaa dfhal ok sifdehad &1 8t dend 81
Options:

1. % 61

2. % 62

3.¥63

4, % 64

Question Number : 9 Question Id : 25498929860 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The barcode that is used in encoding zip codes on US mail is:
Options:

1. # Uniform Product Code (UPQ)

2. % Code 39

3. ¥ POSTNET

4. % WORDNET

Question Number : 9 Question Id : 25498929860 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

US A WR fAiT i et GehIE S # UYh g1 aTell IRehlS gl
Options:

1. % gRwH tiede e (UPC)

2. % @I§ 39

3. ¢ UieeHe (POSTNET)

4. ¥ g&4c (WORDNET)




Question Number : 10 Question Id : 25498930075 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following systems raises important legal issues of remediation, authority,
reliability and privacy in the design, development, and deployment of the same?

Options :

1. # Reinforcement system
2. ¥ Biometric system

3. % Automatic system

4. % Audiometric system

Question Number : 10 Question Id : 25498930075 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafEa & @ st goreft Iuer, wfdear, fesmea & faygiaar ik mu-tadr, faem sk 3ge fAales &
AEqut I 4E 3ol 52

Options:

1. # gadlerur uuTre! (Reinforcement system)

2. ¢ qrEaEfea vomet (Biometric system)

3. ® garfeld Homelt (Automatic system)

4. % Jiffeamfee gomett (Audiometric system)

Question Number : 11 Question Id : 25498930310 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gmail allows you to attach files up to the size of _____ per email.
Options:

1. % 15 MB

2. ¥ 25 MB

3. % 35MB

4. % 45 MB

Question Number : 11 Question Id : 25498930310 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

S (Gmail) 3ueht Ufd SAeT _ 31TehR dch chl TAISel Heli= ohe chl Jfaem &dT 8|
Options:

1. % 15 MB



2. ¥ 25 MB
3. * 35MB
4. % 45 MB

Question Number : 12 Question Id : 25498930898 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

By default, in an MS-Word 2019 document, a spelling mistake is highlighted with a/an
wavy line.

Options :
1. ¥ red
2. % green
3. # black

4. * orange

Question Number : 12 Question Id : 25498930898 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fethice ¥U ¥, TAYH-a$ 2019 (MS-Word 2019) S&iTest |, ad-l &l Jf sl Tgear 3@ 8 @ifchd foar
ST 8|

Options:

1. ¥ &1

2. % gd

3. ¥ ared!

4, % qraf

Question Number : 13 Question Id : 25498931011 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Spelling and Grammar check option is available in the group of the Review tab in
MS-Word 2016.

Options:

1. * Language
2. ¥ Proofing
3. # Changes
4. # Tracking

Question Number : 13 Question Id : 25498931011 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

TIE-a€ 2016 (MS-Word 2016) # @feli 3R IR Iak (Spelling and Grammar check) faeed, Reg,
(Review) ¢g & 99g H IuIeY giaT 8l

Options :
1. ® dast (Language)

2. ¢ gfth (Proofing)
3. ® I99 (Changes)
4. % o (Tracking)

Question Number : 14 Question Id : 25498931440 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an output device of computer system?
Options :

1. ¥ Monitor

2. % Barcode reader

3. # Keyboard

4. * Mouse

Question Number : 14 Question Id : 25498931440 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafEa & 9 o= 41, Sheger [Aeen 1 em3eye fearsy 82
Options :

1. ¢ AR

2. # gRAIS de

3. % H-a8

4. % ARy

Question Number : 15 Question Id : 25498931441 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The pattern of the printed line in most of the products refers to:
Options:

1. # prices

2. ¥ barcodes

3. #® scanners

4. % OCRs



Question Number : 15 Question Id : 25498931441 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

RN IR A Ggd F@ R ded i HafHid dear 8?
Options:

1. % ched

2. ¢ RS

3. ¥ TR

4. % 31 I R (OCR)

Question Number : 16 Question Id : 2549898352 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following devices is used to connect your computer to the internet?
Options:

1. * Processor

2. % Motherboard

3. # USB Drive

4. ¥ Modem

Question Number : 16 Question Id : 2549898352 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAefafed # @ sl=-dt fearsy smudh Shwger st 3exe & Siteq & forg IuahT 6t et 872
Options:

1. ¥ UM

2. ¥ AeES

3. % guudl grEa

4, HigH

Question Number : 17 Question Id : 2549899509 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following functions of MS-Excel 2019 is used to add the arguments that meet
multiple criteria?

Options:
1. % SUM
2. % SUMIF



3. ¥ SUMIFS
4. = SUMSQ

Question Number : 17 Question Id : 2549899509 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 & =feifad & & hiH-1 ther = s ATEST bl GRT o3 dTet dehl ohl STieA o forg Iudi foRar
SITaT 8?2

Options:
1. % SUM
2. % SUMIF
3. ¥ SUMIFS
4. % SUMSQ

Question Number : 18 Question Id : 2549899522 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A printer where the printing head and paper are forced to work together for letter formation is
called a/an

Options :

1. ¥ impact printer

2. % non-impact printer
3. # thermal printer

4. * inkjet printer

Question Number : 18 Question Id : 2549899522 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

39 e ! &1 gl STraT @ STt fifdTr g ofk dwR &t 3rerR fAafor & folg Ues a1y & ot 872
Options:

1. ¢ e iR

2. % -3 iR

3. % gHa fiex

4. % gehoie R

Question Number : 19 Question Id : 25498910863 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is the difference between impact and non-impact printers?



Options :
1. % Impact printers are faster than non-impact printers.
2. # Impact printers produce better quality prints than non-impact printers.

3. ¥ Impact printers make direct physical contact with paper, while non-impact printers do
not.

4. ® impact printers are costlier than non-impact printers.

Question Number : 19 Question Id : 25498910863 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e 3R A-38Fe flier & offg a1 iR 82

Options :

1. % glige fie, AH-geide fifex &Y qor & orfdes a9 8 &)

2. % grige fiiex, At-griqe fHiex i qer § Sgar oramT a1t file 3R ed &

3. ¢ grdae fliex srret o a1y Hien Hifdes dudh s=1d 8, STafs AH-3ree fiiex 39T g1 ahed|
4, % g fiw, AA-giee ik & gar & wen g &)

Question Number : 20 Question Id : 25498911126 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which printer is generally preferred for home users?
Options:

1. % Thermal

2. % 3D

3. # Plotter

4. ¢ Inkjet

Question Number : 20 Question Id : 25498911126 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR IUANTRATST & ferg SmHdR WR ahiH &1 flier ude fowar Sirar 872
Options:

1. % ud

2. % 3D

3. ¥ WX

4, ¥ dhsie

Question Number : 21 Question Id : 25498911228 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following options in MS-Excel 2019 is used to colour the background of the cells
to make them stand out?

Options:

1. * Font colour

2. ¥ Fill colour

3. # Format painter
4. # Shading

Question Number : 21 Question Id : 25498911228 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THTH-Ya 2019 (MS-Excel 2019) # fAfalRaa & & onte &1 fdehea T« (cells) ht g8y &t T4 & forg
3TN fohar STraT & drfes 3 erer fed?

Options:

1. ¥ i %heR (Font colour)

2. + fthat aerR (Fill colour)

3. ® wide dex (Format painter)
4. % ST (Shading)

Question Number : 22 Question Id : 25498913425 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Audio or video signals need tobe ___ for sending them on the internet.
Options:

1. # channelised

2. * managed

3. ¥ compressed

4. % organised

Question Number : 22 Question Id : 25498913425 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ifffeat a1 difeat R i Sec WASH & folw 8147 s1masass g
Options:

1. # F9arssS (channelised)

2. % y&fda (managed)

3. ¢ IWifda (compressed)



4. % Ttsd (organised)

Question Number : 23 Question Id : 25498913501 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Since vector graphics are NOT composed of ______, they are resolution-independent.
Options:

1. ® squares

2. ¥ pixels

3. ¥ circles

4. #® triangles

Question Number : 23 Question Id : 25498913501 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

o e miham @97 781 9, sufo A Reffeas-@ad a1 &1
Options:

1. % quf

2. ¢ U«

3. % g

4, % Fyagit

Question Number : 24 Question Id : 25498913835 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ronald Rivest designed the algorithm in 1991 to provide the means for digital
signature verification.

Options:

1. # mms digest 5

2. ¥ message digest 5
3. # email digest 5

4. % sms digest 5

Question Number : 24 Question Id : 25498913835 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ITes Rt (Ronald Rivest) 7 f&fSieet g5aTeR 9Ty & 149 Iucted] A o fold 1991 &
QeiRyH f&STe femar o

Options :




1. ®¥ gAYHAYY E3eie 5 (mms digest 5)
2. ¢ A3 8eiwe 5 (Message Digest 5)
3. % 3Ad er3uie 5 (email digest 5)
4, ¥ gUHUY S3ee (Sms digest)

Question Number : 25 Question Id : 25498922643 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A occurs when an application requests data from cache memory that no longer exists.
Options:

1. % cache miss

2. # cache hit

3. # cache error

4. * memory conflict

Question Number : 25 Question Id : 25498922643 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
e BIdT g STdl hig YfTelchI= kel AHRY § ST T SFRIY hidl & St 3 HIS[G ol g
Options :
1. ¢ & H19 (cache miss)
2. % & fge (cache hit)

3. # T TR (cache error)
4. % AARY spit-Uerae (memory conflict)

Question Number : 26 Question Id : 25498924064 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How to open the Microsoft Windows Start menu using the shortcut key?
Options:

1. # ALT + Spacebar

2. % CTRL + Shift + Spacebar

3. % CTRL + Esc

4, % CTRL + ALT + Spacebar

Question Number : 26 Question Id : 25498924064 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



RITEehe ol ST IUANT ek ATgshidTte faEist (Microsoft Windows) ®TE A+ & @iell ST1dT 872
Options:

1. # ALT + Spacebar

2. # CTRL + Shift + Spacebar

3. ¥ CTRL + Esc

4, % CTRL + ALT + Spacebar

Question Number : 27 Question Id : 25498924308 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following identifies the file within the file system?
Options:

1. # File size

2. ¥ File identifier

3. # File name

4. # File type

Question Number : 27 Question Id : 25498924308 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Aafafaa & @ o wiga Rwew & fiaR wga & uga™ axdar 82
Options :

1. % thigeT 9159 (File size)

2. ¥ g 3MgelewRR (File identifier)

3. # thrsd A9 (File name)

4, ¥® hrgd gy (File type)

Question Number : 28 Question Id : 25498924454 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following is/are INCORRECT with respect to Chat?

A. It is a forum where multiple people connect with each other to discuss their common
interests.

B. Chat involves two or more individuals that communicate through a chat-enabled service or
software.

Options :
1.4 Only A
2. % Only B



3. % BothAand B
4. * Neither A nor B

Question Number : 28 Question Id : 25498924454 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

g (Chat) & ey & fAmfaRed & @ o= 91/3 Svy= To0d &/8?

A. Tg Ueh Q1 7 & STET g o7 3109 Gy fedl oR =i et & folg Ueh-gaik & Sied 2|

B. d< (Chat) # &l a1 &t ¥ 31fdes eafxh A gid 8 STt de-Harm 9aT a1 QiR o AT ¥ §d1g dhed 8l

Options :

1. ¢ &had A

2. % haa B

3. % A SR BaH!

4. % A AMRTEB

Question Number : 29 Question Id : 25498924590 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A/An ____ file has an MDB file format.
Options :

1. # Hypertext related

2. ¥ MS-Access database

3. * Image

4. = Animation/movie

Question Number : 29 Question Id : 25498924590 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
_____ i3l § MDB WhiSd hiHC BT 8|
Options:

1. ¥ ERRIFT § afdd

2. ¢ THUY-TaRY Sered

3. % g

4. % gfaARe [ gt

Question Number : 30 Question Id : 25498940431 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following defect attributes denote the order in which defects need to be fixed



with reference to software testing?
Options:

1. % Complexity

2. * Intensity

3. ¥ Priority

4, % Severity

Question Number : 30 Question Id : 25498940431 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fFrafafed & @ o Ot Sty favand 39 s ot gxifd) & fOaH gigedar uieror & def | Sl vl Sieh e i
3MTIRThT gicil 872

Options:

1. ¥ prEafRidt (Complexity)
2. % [ (Intensity)

3. ¢ urRd (Priority)

4, ¥ FaR& (Severity)

Question Number : 31 Question Id : 2549896982 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The storage area for email messages is called a
Options:

1. # folder

2. ¥ mail box

3. # directory

4. % hard disk

Question Number : 31 Question Id : 2549896982 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Team & YERUT & &t gl ST 8|
Options:

1. ¥ tiesx

2. ¢ A die

3. ¥ SRREY

4, % gre fewn



Question Number : 32 Question Id : 2549898959 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is meant by instant messaging?

Options:

1. ¢ A type of online chat that offers real -time text transmission over the internet.
2. % An Antivirus

3. % Aprogram

4. % A function

Question Number : 32 Question Id : 2549898959 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

@Rda "M (instant messaging) ¥ T A &7

Options:

1. ¢ Uch UhR Y AT I STl Se¢ UR didfaeh 99T | UTs UuT (text transmission) & &hdt g
2. % Uep UaRI gl

3. % U U gl

4. % U $ha g

Question Number : 33 Question Id : 2549899073 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following products are generally NOT suitable for B2C e-commerce?
Options :

1. % Company-developed software

2. % Online courses

3. # Jewelry

4. * Fruits

Question Number : 33 Question Id : 2549899073 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfefed 7 @ @9 @ IdTg am=d: B2C 3-3iAd o foly Iu<h T8l 872
Options :

1. ¢ &huHl gRT [Aerffa ditedar

2. ¥ A3 UTSshH

3. % 3mquur




4, # thel

Question Number : 34 Question Id : 25498911050 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What do you understand by a font?

Options:

1. # Itis a set of characters including letters and numbers.

2. ¥ Itis a graphical representation of text that may include a different typeface, point size,
weight, color, or design.

3. # Itis often equivalent to pixels.

4. # Tt is a characteristic of text colour.

Question Number : 34 Question Id : 25498911050 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

hi-e (font) T TT T A &7

Options:

1. % g gulf (characters) T Yk GHg 8idT ¢ S 31&R 3R HwaT¢ A gid g

2. ¢ g UTS (text) T Yeh UTfthered fA=qur @ foiad Gen 31erT 2rguthy, foig SieR, a1, 31 a1 fesirea snfae
gl TehdT 81

3. ¥ Jg R e & 9Aged giar gl

4. % Tg UTs (text) o T h Uah favar g1

Question Number : 35 Question Id : 25498911682 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Web casting is:

Options :

1. # searching on the web

2. # playing music on the internet

3. # casting a movie star in a role on W.W.W

4. ¥ broadcasting video live over the internet

Question Number : 35 Question Id : 25498911682 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ad IR T 872
Options :



1. % 99 R G AT

2. # Fee R Ifiad Foin

3. % W.W.W TR et fhert TR &t et &
4, ¢ 3 R o13a difsat gk eean

Question Number : 36 Question Id : 25498913340 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to add a bulleted list in MS-Word 2019?
Options:

1.9 Ctrl + Shift + L

2. % ALT+H+A

3. % ALT+H+G

4. % ALT+H+C

Question Number : 36 Question Id : 25498913340 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TATE-IS 2019 (MS-Word 2019) H geide gt Siteq & folg hlete Qifdene o 82
Options :

1.9 Ctrl + Shift + L

2. % ALT+H+A

3. % ALT+H+G

4, % ALT+H+C

Question Number : 37 Question Id : 25498919180 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If Ravi wants to send the same mail to different companies with their address, then which
action is the most suitable from the following options?

Options:

1. # Sending the same mail one at a time
2. % Sending the same mail to all at a time
3. ¥ Using mail merge

4. # Sending different mails one at a time

Question Number : 37 Question Id : 25498919180 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



gfe T U g A ot fafra Sufaat &t ek ud IR S argdr g, dtf Ffeiiea fasedt 7 @ sia-<t forar e
SUGh &7

Options :

1. ¥ Yo gl A1 Al Yoh IR | Ao (Sending the same mail one at a time)

2. % U gl Ad ol Uoh IR H It ht 9sHT (Sending the same mail to all at a time)

3. ¢ A 751 &1 U AT (Using mail merge)

4, ¥ Y IR H S7ATT-37eTT Ael /o1 (Sending different mails one at a time)

Question Number : 38 Question Id : 25498919211 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-PowerPoint 2019, displays a series of slides on the full computer screen.
Options:

1. ¢ Slide Show

2. * Slide Orientation

3. # Placeholder

4. % Zoom Control

Question Number : 38 Question Id : 25498919211 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THUY-gTeRyise 2019 (MS-PowerPoint 2019) , quf hgeR Shi- UR 1SS! hl Teh @t Uaiid
HRAT 8|

Options:

1. ¢ wTsS <M

2. % w15S MRueH
3. ¥ wiggles

4. % g

Question Number : 39 Question Id : 25498925234 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the OSI model, as data packets are moved from lower to upper layers, headers are:
Options:

1. # rearranged

2. % restore

3. # added

4. ¥ removed



Question Number : 39 Question Id : 25498925234 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3Tgas Atsd (OSI model) #, S9 22T Gohe ! Raell R T FU TR dch o TRATSTAT €, @ 88X e
Options:

1. ¥ y7gfed gt 9id 8

2. % RER G A8

3. ¥ SrerSdr e

4.« garfear smar g

Question Number : 40 Question Id : 25498925265 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In computer networking, UDP stands for:
Options:

1. # Universal Data Protocol

2. % Universal Datagram Protocol

3. # User Data Protocol

4. ¢ User Datagram Protocol

Question Number : 40 Question Id : 25498925265 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FR AeafhTH, UDPRraref @2

Options:

1. # Universal Data Protocol (fa<icT ST Uteltehict)

2. % Universal Datagram Protocol (gf*a¥e S Uictenre)

3. # User Data Protocol (IR ST Uictehrd)
4. ¢ User Datagram Protocol (ISR S Uictehld)

Question Number : 41 Question Id : 25498925331 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Thereis/are _____ type(s) of page orientation in MS-Word 2019.
Options:

1. %1

2.9 2

3.%3



4. % 4

Question Number : 41 Question Id : 25498925331 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TATY-TE 2019 (MS-Word 2019) # 0T 3tk & YRR &id 8|
Options:

1. %1

2.9 2

3.% 3

4, % 4

Question Number : 42 Question Id : 25498933790 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a file sharing website which allows file size up to 10 GB?
Options:

1. ¥ www.sendspace.com

2. * www.webfilehost.com

3. % www.megaupload.com

4, % www.singlefile.com

Question Number : 42 Question Id : 25498933790 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fr=fofea & & o O thise a1 demse 10 GB d i higd ST i Uid e <l giaer &t &2
Options :

1. ¥ www.sendspace.com

2. * www.webfilehost.com

3. % www.megaupload.com

4, % www.singlefile.com

Question Number : 43 Question Id : 25498938408 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A is an intersection of a row and a column in a worksheet.
Options:

1. * row

2. #* column



3.+ cell

4. * workbook

Question Number : 43 Question Id : 25498938408 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

, Uah gentfic & Teh I 3R Ueh i o Uidwsed (3exder™) gl
Options :
1. % A (row)

2. % piad (column)
3. ¢ T (cell)
4. % ghgaw (workbook)

Question Number : 44 Question Id : 25498942485 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To move one cell to the left in a spreadsheet, which of the following keys is used?
Options:

1. # Down arrow key or Enter key

2. % Up arrow key

3. ¥ Left arrow key

4. # Right arrow key or Tab key

Question Number : 44 Question Id : 25498942485 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tresfte 7 ger 9 o138 3R ST o foig Fmforfea & @ foha Gstt (key) a1 Iuait forar Srar 82
Options:

1. % 33 QA &I a1 YR &t (Down arrow key or Enter key)

2. % 3@ @ &1 (Up arrow key)

3. ¢ due T &7 (Left arrow key)

4. ¥ 73 QA <t a1 & A (Right arrow key or Tab key)

Question Number : 45 Question Id : 25498942489 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In MS-Excel 2019, if we enter 12/07/08 in a cell, then the data type is
Options :



1. * numeric
2. * alphanumeric
3. ¥ date

4. % hyperlink

Question Number : 45 Question Id : 25498942489 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

QHUH-TeRieT 2019 (MS-Excel 2019) #, afe g# fhell @1 # 12/07/08 &f &hvd §, af ST UehR gl
Options:

1. % R

2. ® IhgARS

3.¥3¢

4. % grguRfcie

Question Number : 46 Question Id : 25498942505 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, you can move to the cell at the intersection of the last row and the last
column containing data by pressing

Options :

1. % Ctrl + Home

2. % Ctrl + Right arrow key
3. % Ctrl + End

4. # Ctrl + Left arrow key

Question Number : 46 Question Id : 25498942505 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THATE-Terlel 2019 (MS-Excel 2019) #, 3Ty __ EaTehe ST b Sifa# dfth ofR sifas spier & ufdedeq
R T deT R 71 Gehd 1

Options:

1. % Ctrl + Home

2. % Ctrl + qgc W &Y

3. ¥ Ctrl + End

4. % Ctrl + doe Wt

Question Number : 47 Question Id : 25498942509 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to save a workbook in MS-Excel 20197
Options :

1.9 Ctrl + S

2. % Ctrl+N

3.% Ctrl+0O

4. % Ctrl+V

Question Number : 47 Question Id : 25498942509 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TATH-Terdel 2019 (MS-Excel 2019) # achgeh ol Hau (¥ &) & foig Amfafaa # @ forg Rt 2iiéane
T IUANT fehaT STTaT 872

Options:

1.9 Ctrl + S
2. % Ctrl + N
3.% Ctrl+0O
4, % Ctrl+V

Question Number : 48 Question Id : 25498942520 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to hide a column in an MS-Excel 2019
spreadsheet?

Options :

1. % Ctrl+9
2.9 Ctrl + 0
3. % Ctrl +1
4. # Ctrl +2

Question Number : 48 Question Id : 25498942520 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THUY-TeRde 2019 (MS-Excel 2019) ©¥ssfie & siaq f&um & fog fAfafaa & 9 fohg Fieis iféae ar
UG foha ST 8?2

Options:

1. % Ctrl+9
2. ¥ Ctrl+0
3. % Ctrl +1



4, % Ctrl + 2

Question Number : 49 Question Id : 25498942530 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The process of arranging data in a column in a particular order is done using in MS-
Excel 2019.

Options:

1. ¥ SORT

2. # FORMAT
3. # FILTER
4, % DESIGN

Question Number : 49 Question Id : 25498942530 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THUT-T 2019 (MS-Excel 2019) H fordt shfetd & ST bl Ueh AW the & caafeyd o= i ufehar
ST IUGNT Shch chl STe gl

Options:

1. ¥ Gté& (SORT)

2. % mHc (FORMAT)
3. ¥ fheex (FILTER)
4. % f3Sirs (DESIGN)

Question Number : 50 Question Id : 25498942534 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To check whether the given condition is true or false, the function is used in MS-Excel
2019.

Options:

1. ¥ IF()

2. % SUM()

3. % LOOKUP()
4. % AVGQ()

Question Number : 50 Question Id : 25498942534 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
g S o forg o & 713 fIfa 9 & a1 3/, tHug-vad« 2019. (MS-Excel 2019) & TherQT T




AT foRaT STaT 81
Options:

1. ¥ IF()

2. % SUM()

3. % LOOKUP()
4, % AVGQ()

Question Number : 51 Question Id : 25498942550 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
is the binary equivalent of the decimal 14.
Options:
1. % 1111
2. % 1101
3.4 1110
4. % 1100

Question Number : 51 Question Id : 25498942550 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
_ Mg 14 1 I8 99T B
Options :

1. % 1111

2. % 1101

3.4 1110

4. % 1100

Question Number : 52 Question Id : 25498942554 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ____ appears at the bottom of an MS-Excel window.
Options:

1. % Status bar

2. # Filename

3. ®* Workbook name

4. % Title bar

Question Number : 52 Question Id : 25498942554 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

QY Geiet et (MS Excel window) & 2 fzs &ar 31

Options:

1. ¥ R IR
2. % thigel A
3. ¥ geheeh AH
4, % gfed IR

READING COMPREHENSION

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Display Number Panel :
Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549898440
2

Online
Mandatory

2549898481
No

Question Id : 25498921307 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

Man has always been fascinated by high mountains. They seem to challenge man by their
greatness. Man accepts the challenge and despite all dangers involved, he attempts to
conquer these heights. The primary objective of a mountaineering expedition is to get to the
top of a mountain which has remained unconquered. All expeditions take with them local
guides who are not only experienced climbers, but also have a thorough knowledge of the

land.

Oxygen masks and other protective equipment available today are essential for any
mountaineer, but what ultimately determines his success is his own stamina. The greater the
height of the mountain, the greater is the risk involved. Throughout the journey, a
mountaineer has to place each step with utmost caution. Death seems to be his constant
companion which can be kept at bay only with a supreme presence of mind.

Sometimes an expedition has to be suspended because of bad weather or death of a member.



However, such an expedition cannot be called a total failure because it still provides useful
information for later attempts. Every expedition takes along a team of scientists who record
their observations on the weather, plants, animals, soil etc. These observations help future
climbers by providing knowledge about the conditions they might have to face.

Ordinary people should not lose heart if they do not have the courage to go on such
dangerous journeys. They can go on short treks with friends or family to enjoy a waterfall or
cross a small valley. Others can simply go to a hill station and enjoy the scenic beauty and the
cool weather. A visit to a hill station can provide the innocent pleasure of mountain climbing
without any risk to life or limb.

Sub questions

Question Number : 53 Question Id : 25498921308 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of an expedition is to:
Options :

1. # collect scientific data

2. # enjoy the landscape

3. ¥ scale new peaks

4. # face dangers

Question Number : 54 Question Id : 25498921309 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Local guides are hired because they:
Options:

1. ¢ are familiar with the land

2. * help to carry equipment

3. # are easy to afford

4. # can predict weather

Question Number : 55 Question Id : 25498921310 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The success of a climber is determined by:
Options :

1. % oxygen supply

2. # favourable weather

3. ¥ the climber’s stamina

4. # |ocal guides



Question Number : 56 Question Id : 25498921311 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In order to survive, a climber must have:
Options :

1. # a detailed map

2. % protective equipment

3. # information about the weather

4. ¥ mental alertness

Question Number : 57 Question Id : 25498921312 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A visit to a hill station DOES NOT:

Options:

1. # fill one with a sense of adventure

2. ¥ pose a danger to one’s life

3. # offer the pleasure of enjoying the scenic beauty

4. # provide people with an opportunity to go trekking

Question Id : 25498921307 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (53 to 57)

o MY TTeriar ot U SR IUH SMUR WR usii & IR
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Sub questions

Question Number : 53 Question Id : 25498921308 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
forelt SrfoaT o1 g Ie=a A= 7 & R 82
Options :

1. % JT-Ieh 3fichs Tehid T

2. % A I 3G AT

3. ¢ 75 A3l R IeT

4, ¥ QI pT JTHAT hAT

Question Number : 54 Question Id : 25498921309 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T ARfesient sl fomTg R forar Sirar @ wriffes 2
Options:

1. 4 & TR 83 &1

2. % IUHRUT o ST H HERIAT hdt & |

3. # ggd e | I Bl &

4. % gy ot widsgaroft R Gad 8l

Question Number : 55 Question Id : 25498921310 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fohelt udaRIE! hl HhetdT ot A 7 & forges grT ReiRa forar Srar 82
Options :

1. ¥ 3fferdfie smgfed

2. ® 3qhd HEH

3. ¢ UddRig! &l ggsuih

4, ® Y ATTEsiS

Question Number : 56 Question Id : 25498921311 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Stifad I8+ & folg, Te gdarial o ur 1 # & o1 31aa gi=m arfgy?
Options:

1. ¥ o faegd waem

2. % refcHh IUh0l

3. ® HgH & TSGR

4. & A8 FSTT

Question Number : 57 Question Id : 25498921312 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

forelt foet weemr ot A fam & @ o U 18T et &2
Options:

1. % Qrgy & gAg

2. ¢ Sfigq & ufd @

3. ® HIgR Hied e 3T urfed

4. % cafewat & g 2T 0 ST o SrwR

QUANTITATIVE APTITUDE
Section Id : 2549898441
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted: 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898482
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928883 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of the question mark (?) in the following question? (You are not
required to calculate the exact value.)

30.06% of 499 + 39.99% of 799 =?



Options :
420

1. %

, % 380

3 % 440

4 v 470

Question Number : 58 Question Id : 25498928883 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ferfof@n wer # Wt e () & W W FATT A a0 ge AEe? (o §F A A
TR 7 A B

499 = 30.06% + 799 = 39.99% = ?
Options:
1 = 420

5 % 380
5 % 440

4. v 470

Question Number : 59 Question Id : 25498928965 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What values will come in place of the question mark (?) in the following question? (You are not required to
calculate the exact value.)

10° X 100% + 999999999 = 10 + 10’

Options:



Question Number : 59 Question Id : 25498928965 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e vy & yyare g (?) & WH R 51 #1 I1CM? (39 FeXd A 1 N0 Hel I
ETHd A5l §1)

10% x 100% + 999999999 = 10’ + 10?
Options:
1. % 6

2.¢# 9

4 % 10

Question Number : 60 Question Id : 25498929025 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (?) in the following number series?
21 38 59 84 113 7?

Options:

1 % 138

, x 152

3 % 134



146

Question Number : 60 Question Id : 25498929025 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfefed e @ & uy &g (?) o W W a1 Sg?
21 38 59 84 113 ?

Options :

1. % 138

2. % 152

3. % 134

4, ¥ 146

Question Number : 61 Question Id : 25498929123 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

There are 15 boys in a basketball team. The average height of the first five boys is 170 cm, the
next five boys is 178 cm and the last five boys is 176 cm. What is the average height of all 15
boys?

Options:

1. % 175.80 cm

2. % 174.90 cm

3. % 175.00 cm

4, % 174.66 cm

Question Number : 61 Question Id : 25498929123 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Uch ST&hedld e B 15 7Sch ¢ | U Ul dSeh! ohi 3i9d a8 170 cm, STt Ui eSahl ahl 178 cm 3R
3ifaT e dsehl ht 176 cm g1 Tt 15 TTSapl i 3 gd HaTs feha-t 82

Options:

1. % 175.80 cm
2. % 17490 cm
3. % 175.00 cm
4.4 174.66 cm

Question Number : 62 Question Id : 25498929508 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
If 16x% + 9y® + 42z% — 4z + 14 = 12(y — 2x), then the value of (2x + 3y + 4z) is:

Options:
1 L
1% 2

Question Number : 62 Question Id : 25498929508 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TG 1632+ 9y2 + 422 -4z 4+ 14=12(y-2x) & & (v + 3y + 4z) F AF T M
Options:

1
L= 15

Question Number : 63 Question Id : 25498929509 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 2x* — 4x + 1 = 0, then the value of x® + # is:

Options:
1.¢ 3



L]

(B

Question Number : 63 Question Id : 25498929509 Question Type : MCQ Option Shuffling :

Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T 2x2—4x+1=0 & ar L2+

Options:
1.4 5

FT AT FIT grem?

GENERAL MENTAL ABILITY AND REASONING

SectionId:

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :
Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549898442
4

Online
Mandatory

2549898483
Yes



Question Number : 64 Question Id : 25498910137 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is
related to the first word.

Virology : Virus :: Semantics : ?
Options:

1. % Amoeba

2. ¥ Language

3. * Nature

4. % Society

Question Number : 64 Question Id : 25498910137 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
39 fahed o1 T ARSIy St iR 2rea & I TR I6ifdd ¢ f99 TR geRT <rec uget 2reg 9 Heifdd g1

fersmoy frmmr : farsmoy :: <rearef fagm : 2
Options:
1. % areffam
2. ¥ ATNT
3. % TGy

4. % AN

Question Number : 65 Question Id : 25498912917 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This question is based on the given alphabet series.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

If the 15t and 26th, 2nd and 25, and so on, letters of the English alphabet are paired, then
which of the following pairs is correct?

Options :
1. % GR
2. % CV
3. % IP
4. & EV

Question Number : 65 Question Id : 25498912917 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
w1 ug, & 71 quidTen sfEen wR sutRa 1

ABCDEFGHIJKLMNOPQRSTUVWXYZ
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Options:

1. % GR

2. % CV

3. % 1IP

4, & EV

Question Number : 66 Question Id : 25498918983 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select two words (from 1, 2, 3, 4 and A, B, C, D) related to the pair of words already given - one
word for each of the two given words.

[:Herd: Star:1I

I. (1) Sheep (2) Wolves (3) Cattle (4) Fish

I1. (A) Constellation (B) Planet (C) Solar System (D) Sun
Options:

1. % 2C

2. % 4B

3. ¥ 3A

4. = 1D
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Options:

1. % 2C

2. % 4B



3. ¥ 3A
4. % 1D

Question Number : 67 Question Id : 25498919865 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes
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Four words have been given, out of which three are alike in some manner and one is different.
Select the one that is different.

Options:

1. Calendar
2. % Year

3. # Date

4. % Month

Question Number : 67 Question Id : 25498919865 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes
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Options:

1. ¢ dhefex

2. % qy

3. % gRt@

4. % HIg
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Four words have been given, out of which three are alike in some manner and one is different.
Select the one that is different.

Options:

1. # Mandible
2. % Rib

3. ® Sternum
4. ¥ Pinna

Question Number : 68 Question Id : 25498939841 Question Type : MCQ Option Shuffling :
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® Rgepf® (Mandible)
2. ® ugel (Rib)

3. # I (Sternum)

4, « ufure! (Pinna)

Question Number : 69 Question Id : 25498939944 Question Type : MCQ Option Shuffling :
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This question consists of six statements and options consisting of three statements put
together in a specific order. Select the option that indicates a valid argument containing
logically related statements, that is, where the third statement is a conclusion drawn from the
preceding two statements.

A: All balls are locks.

B: All keys are locks.

C: All keys are balls.

D: Some keys are locks.
E: Some locks are balls.
F: No ball is lock
Options :

1.+ ACB

2. % BEF

3. % CDF

4. = CEF
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Options:

1.+ ACB

2. % BEF



3. * CDF

4. % CEF
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Kolar Gold Fields (KGF) is a mining region in

deepest gold mine in India.
Options:

1. ¥ Karnataka

2. % Assam

3. ¥ Maharashtra

4. % Rajasthan

, famous for being the oldest and

Question Number : 70 Question Id : 2549895380 Question Type : MCQ Option Shuffling :

Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ HAfeh
2. % 3@H
3. ¥ OgRIE
4., % ISR
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Question Number : 71 Question Id : 25498912545 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Eco-Mark is given to an Indian product that is:
Options :

1. # rich in protein

2. ¥ environment-friendly

3. # economically viable

4. * pure and unadulterated

Question Number : 71 Question Id : 25498912545 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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4. #® g 3R sraffgor Agd
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Yes Display Question Number : Yes
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Which of the following cities hosted the Asian Games 20227
Options:

1. * Busan

2. ¥ Hangzhou

3. ¥ Doha

4. ¥ Medan

Question Number : 72 Question Id : 25498912796 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % gam

2. ¢ g

3. ¥ ghar



4. % fgq

Question Number : 73 Question Id : 25498932035 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gopi Krishna was a maestro of which of the following dance forms?
Options:

1. #* Manipuri

2. % Bharatnatyam

3. ¥ Kuchipudi

4. ¢ Kathak

Question Number : 73 Question Id : 25498932035 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tt greor fAfefad 7 9 foa 7 Qeft 7 fRwoma 9?2
Options:

1. ® #fogd

2. ® WA

3. ® glgst

4, & hYyh

Question Number : 74 Question Id : 25498933667 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Democracy in India rests on the fact that:

Options :

1. # the Constitution is a written one

2. ¥ there are fundamental rights

3. ¥ people have the right to choose and change the Government

4. # there are Directive Principles of State Policy

Question Number : 74 Question Id : 25498933667 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 25498935911 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is produced when concentrated cinnabar is roasted in excess air?
Options:

1.4 Hg

2. % Fe

3. % Zn

4, % Al

Question Number : 75 Question Id : 25498935911 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options:
1.4 Hg
2. % Fe
3. % Zn
4, % Al
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Summer camps are supervised camps conducted to entertain as well as equip students
with various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498941564 Question Type : TYPING TEST Display
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Macroeconomics is a branch of economics that studies how an overall economy. It
studies the market or other systems that operate on a large scale. It can also be termed
as study of their behaviours. Macroeconomics studies phenomenon which are present in
the whole economy. This phenomenon includes inflation and national income and gross
domestic product and many more. Macroeconomics address some key question of the
economics. It gives us the causes of the unemployment and the inflation. It also gives us
insights on what creates or stimulates economic growth. Macroeconomics attempts to
measure how well an economy is performing. It also attempts to understand what forces
drive the economy and to project how performance can be improved. Macroeconomics
deals with the entire economy. In contrast the microeconomics is more focused on the
choices made by individual actors in the economy. These individual actors might people
or households or industries. Macroeconomics focuses on the way the economy performs
as a whole and then analyses how different sectors of the economy relate to one another
to understand how the aggregate functions. Macroeconomists develop models
explaining relationships between these factors. Such macroeconomic models and the
forecasts they produce are used by government entities to aid in the construction and
evaluation of various policies. Given the enormous scale of government budgets and the
impact of economic policy on consumers and businesses macroeconomics clearly
concerns itself with significant issues. Economic theories when properly applied can offer
illuminating insights on how economies function and the long term consequences of
particular policies and decisions. Macroeconomic theory can also help individual
businesses and investors make better decisions through a more thorough understanding
of the effects of broad economic trends and policies on their own industries. It is also
important to understand the limitations of economic theory. Theories are often created
in a vacuum and lack certain real world details like taxation and regulation and
transaction costs. The real world is also decidedly complicated and includes matters of
social preference and conscience that do not lend themselves to mathematical analysis.



The economic theory has its limitations. But it is important and worthwhile to follow the
major macroeconomic indicators like gross domestic product and inflation and
unemployment. The performance of companies and by extension their stocks is
significantly influenced by the economic conditions in which the companies operate and
the study of macroeconomic statistics can help an investor make better decisions and
spot turning points. It can be invaluable to understand which theories are in favour and
influencing a particular government administration. The underlying economic principles
of a government will say much about how that government will approach taxation and
regulation and similar policies. By better understanding economics and the ramifications
of economic decisions investors can get at least a glimpse of the probable future and act
accordingly with confidence. These glimpses can help investors to invest in the best
instruments as per their needs. Macroeconomics is a broad field. It has two specific areas
of research which are representative of this discipline. The first area is the factors that
determine long term economic growth or increases in the national income. The other
factor involves the causes and consequences of short term fluctuations in national
income and employment. This whole together is also known as the standard business
cycle.
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